This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Wester Ross Strathpeffer and Lochalsh

5,411

4

1,083

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Chris BIRT	Scottish National Party (SNP)	988
Biz CAMPBELL	Independent	1,552
Margot KERR	Scottish Liberal Democrats	700
Liz KRAFT	Scottish National Party (SNP)	1,234
Patrick LOGUE	Scottish Conservative and Unionist	937
	Total	5,411

Candidate Biz CAMPBELL Elected with 1,552 votes, being in excess of the quota of 1,083 Candidate Liz KRAFT Elected with 1,234 votes, being in excess of the quota of 1,083

This report contains the transfers results.

Stage 2 - Surplus of Biz CAMPBELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris BIRT	346	0.30219	104.55774
Transfer to Margot KERR	604	0.30219	182.52276
Transfer to Patrick LOGUE	305	0.30219	92.16795
No further preference	297	0.30219	89.75043
Not transferred due to rounding			0.00112
	Total		469.00000

This report contains the transfers results.

Stage 3 - Surplus of Liz KRAFT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Margot KERR	605	0.12236	74.02780
Transfer to Patrick LOGUE	24	0.12236	2.93664
No further preference	605	0.12236	74.02780
Not transferred due to rounding			0.00776
	Total		151.00000

This report contains the transfers results.

Stage 4 - Surplus of Chris BIRT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Margot KERR	437	0.00874	3.81938
Transfer to Margot KERR	172	0.00264	0.45408
No further preference	522	0.00874	4.56228
No further preference	165	0.00264	0.43560
Not transferred due to rounding			0.00918
	Total		9.55774

This report contains the transfers results.

Stage 5 - Exclusion of Margot KERR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Patrick LOGUE	330	1.00000	330.00000
Transfer to Patrick LOGUE	261	0.30219	78.87159
Transfer to Patrick LOGUE	293	0.12236	35.85148
Transfer to Patrick LOGUE	217	0.00874	1.89658
Transfer to Patrick LOGUE	90	0.00264	0.23760
No further preference	370	1.00000	370.00000
No further preference	343	0.30219	103.65117
No further preference	312	0.12236	38.17632
No further preference	220	0.00874	1.92280
No further preference	82	0.00264	0.21648
Not transferred due to rounding			0.00000
	Total		960.82402